TRI CONTINENTAL CORP

Form N-23C-1

January 10, 2002

1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT PAGE NO. 1 BMFR479-1-M-01

076-SELIGMAN GROUP OF FUNDS

097-TRI-CONTINENTAL CORPORATION - COMMON PRICE DATE 11/28/01

0	ORDER	COST	ORD
REGISTRATION	SHARES	PRICE	DOLL
0 JOHN M GEPFORD CUST	19.111	19.950	381
0 JOHN M GEPFORD CUST	19.111	19.950	381
PRICE DATE TOTALS	38.222		 762
1 PROCESS DATE 12/31/01	MONTHLY FORM 23C-1	REPORT	
076-SELIGMAN GROUP OF	FUNDS		
	097-TRI-CONTINENTAL	CORPORATION - C	COMMON PR
0	ORDER	COST	ORD
REGISTRATION	SHARES	PRICE	DOLL
0 LAMAR J JARRARD &	25.252	19.840	501
0 BERNARD CROOM	50.453	19.840	1,001
0 FRANCES W FOLEY	25.252	19.840	501
0 PETER STRAUS	50.453	19.840	1,001
0 PETER STRAUS	50.453	19.840	1,001
0 JONATHAN MARK STRAUS	37.852	19.840	751
0 JONATHAN MARK STRAUS	25.252	19.840	501
0 ROBERT C DOWNING	100.856	19.840	2,001
O STATE STREET BANK AND TRUST CO CUST	108.229	19.840	2,147
O STATE STREET BANK AND TRUST CO CUST	676.851	19.840	13,428
O STATE STREET BANK AND TRUST CO CUST	303.286	19.840	6,017
O STATE STREET BANK AND TRUST CO CUST	212.855	19.840	4,223
O STATE STREET BANK AND TRUST CO CUST	39.113	19.840	776
O STATE STREET BANK AND TRUST CO CUST	274.059	19.840	5,437
O STATE STREET BANK & TRUST CO CUST	2,604.103	19.840	51,665
O STATE STREET BANK AND TRUST CO CUST	146.304	19.840	2,902
0 H LEE MUNSON AND	1.214	19.840	24
O STATE STREET BANK AND TRUST CO CUST	10.549	19.840	209
O STATE STREET BANK AND TRUST CO CUST	51.586	19.840	1,023
O STATE STREET BANK AND TRUST CO CUST	84.435	19.840	1,675
0 RALEIGH A HUGHES JR &	25.252	19.840	501
O JACK BRAIMAN TTEE	5.090	19.840	101
0 WILLIAM P RZEPECKI &	75.655	19.840	1,501
1 PROCESS DATE 12/31/01	MONTHLY FORM 23C-1		,
076_SELICMAN CROUD OF	ELINID O		

		097-TRI-CONTINENTAL	CORPORATION - COMMON	PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	62.597	19.840	1,241
0	CAROL PARISI &	25.252	19.840	501
0	STATE STREET BANK AND TRUST CO CUST	60.534	19.840	1,201
0	STATE STREET BANK AND TRUST CO CUST	147.353	19.840	2,923
0	STATE STREET BANK AND TRUST CO CUST	269.469	19.840	5,346
0	STATE STREET BANK AND TRUST CO CUST	10.827	19.840	214
0	DIANE THILMONT	15.171	19.840	301
0	STATE STREET BANK AND TRUST CO CUST	111.636	19.840	2,214
0	STATE STREET BANK AND TRUST CO CUST	63.054	19.840	1,251
0	RUTH J JACOBS &	20.211	19.840	401
0	EDWARD F MORRIS CUST	35.836	19.840	711

0 JOHN T VOSE &

0	STATE STREET BANK AND TRUST CO CUST	10.131	19.840	201
0	JACK M CHERTOCK &	10.131	19.840	201
0	SCHUYLER HOLLINGSWORTH JR &	50.453	19.840	1,001
0	STATE STREET BANK AND TRUST CO CUST	100.856	19.840	2,001
0	LOUIS A WEHRLE &	60.534	19.840	1,201
0	STATE STREET BANK AND TRUST CO CUST	39.382	19.840	781
0	MARI REBANE MCGEE TTEE	17.691		351
0	STATE STREET BANK AND TRUST CO CUST	252.066	19.840	5,001
	PRICE DATE TOTALS	6,347.588		125,936
1	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1		•
	076-SELIGMAN GROUP	OF FUNDS		
	0,0 022131111 01001	097-TRI-CONTINENTAL	CORPORATION -	- COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	MICHAEL J KENNEDY CUST	245.098		5,000
0	PHILLIP E COUGHLIN	200.000		4,080
0	STATE STREET BANK AND TRUST CO CUST	500.080	20.400	10,201
0	STATE STREET BANK AND TRUST CO CUST	24.514	20.400	500
0	STATE STREET BANK AND TRUST CO CUST	24.314	20.400	500
0	LAURA BYRD	417.342		8,513
0	REBECCA SMETHIE DARLING	284.314		5,800
0	CHRISTINE HUGUENARD	1.489		30
0	JOSEPH WOLFE	682.000	20.400	13,912
0	J WOODWARD ROE	5,265.891	20.400	107,424
0	MARY C ERWIN	1,300.000		26,520
0	MARY C ERWIN	1,300.000		26,520
0	MARY C ERWIN	1,300.000	20.400	26,520
0	ROLAND S JARY	664.445	20.400	13,554
0	STATE STREET BANK AND TRUST CO CUST	230.698 161.765	20.400	4,706
0	STATE STREET BANK AND TRUST CO CUST			3,300
0	STATE STREET BANK AND TRUST CO CUST	161.765		3,300
0	CAROL E SAMUEL	105.000	20.400	2,142
0	STATE STREET BANK AND TRUST CO CUST	352.346 250.000	20.400	7,187
0	STATE STREET BANK AND TRUST CO CUST ROBERT F VOLKMAN SR AND	786.430	20.400	5,100
0	JAMES P CUMMINGS &	14.000		16 , 043 285
0				4,683
-	STATE STREET BANK AND TRUST CO CUST PROCESS DATE 12/31/01	MONTHLY FORM 23C-1		4,003
	076-SELIGMAN GROUP	OF FUNDS 097-TRI-CONTINENTAL	CORPORATION -	- COMMON PR
0		ORDER	COST	ORD
-	REGISTRATION	SHARES	PRICE	DOLL
0	HELEN B LESWING	5,215.038	20.400	106,386
0	KATHRYN ELAINE NESTICK CUST	2.451	20.400	50
0	KATHRYN ELAINE NESTICK CUST	2.451	20.400	50
0	ELIZABETH S G SPEECE CUST	175.000	20.400	3,570
0	ELIZABETH S G SPEECE CUST	175.000	20.400	3,570
0	KATHRYN ELAINE NESTICK CUST	4.902	20.400	100
0	JOHN M GEPFORD CUST	18.355	20.400	374
0	JOHN M GEPFORD CUST	19.111	20.400	389
0	MERLE E METZLER &	231.206	20.400	4,716
0	DAVID P JUNG	24.510	20.400	500
0	RONALD C ROUSH &	728.595	20.400	14,863
0	STATE STREET BANK AND TRUST CO CUST	30.803	20.400	628
0	JEANETTE M BERGER TR UA 02/05/97	4,365.845	20.400	89,063
0	SUSAN S O'BRIEN CUST	150.000	20.400	3,060
0	NATHANIEL S GATEWOOD	200.000	20.400	4,080
0	JOHN C TREMONTI TR UA 09/29/97	3,161.138	20.400	64,487

3,161.138 279.252

20.400

20.400

5,696

	Edgar Filing: TRI CONTINENTAL (CORP - Form N-23C-1		
0	JOHN P SCOTT	550.000	20.400	11,220
0	ST JOSEPH MANOR HEALTH CARE INC	490.196	20.400	10,000
0	JOSHUA TAYLOR	155.350		3,169
0	MILTON PEERS BROWN TTEE		20.400	98,103
0	JOAN HAWLEY BROWN TR	2,228.000	20.400	45,451
0	JAMES KREMZIER &	650.000	20.400	13,260
1	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1	REPORT	,
	ATC OFFICIALLY OFFICE	T DIND 0		
	076-SELIGMAN GROUP OF	097-TRI-CONTINENTA	I CORPORATION -	- COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST		20.400	4,365
0	ANNE HUNTER WHEELOCK	49.020		1,000
0	SUSAN S O'BRIEN CUST	150.000	20.400	3,060
0	CHESTER A PACKER	592.771	20.400	12,092
0	NANCY COLEMAN BRAENDER TTEE	3.791	20.400 20.400	77
0	WILLIAM M CRYAN &	784.314	20.400	16,000
0	MARY F MCGLYNN TTEE	6,015.450	20.400	122,715
0	MABEL ROSTANT &	110.000	20.400	2,244
0	HOLLY HOBART TTEE	150.475	20.400	3,069
0	MARC L WORTHINGTON	154.778	20.400	3,157
0	JEANNE B ARCHIBALD	735.294	20.400	15,000
0	JOHN FURFARO EXEC	85.024	20.400	1,734
	PRICE DATE TOTALS	47,212.391		963,132
1	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1	REPORT	303,132
0	076-SELIGMAN GROUP OF REGISTRATION	097-TRI-CONTINENTA ORDER SHARES	L CORPORATION - COST PRICE	- COMMON PR ORD DOLL
0	STATE STREET BANK AND TRUST CO CUST	536.113	18.950	10,159
0	NAOMI M PREHEIM CUST	294.513		5,581
0	NAOMI M PREHEIM CUST	294.513	18.950	5,581
0	MARY W CROCCO CUST	495.008	18.950 18.950	9,380
0	GARTH E JONES	3,000.000	18.950	56 , 850
0	DOLORES HENRYSEN CUST	79.156	18.950	1,500
0	SUSAN F FOWLER	450.000	18.950	8,527
0	THOMAS HOCK	553.442	18.950	10,487
0	JAMES M JOHNSON	1,583.113	18.950	30,000
0	JOHN J SULLIVAN JR	2,000.000	18.950	37 , 900
0	STATE STREET BANK AND TRUST CO CUST	1.055	18.950	20
0	STATE STREET BANK AND TRUST CO CUST	45.609	18.950	864
0	STATE STREET BANK AND TRUST CO CUST	215.303	18.950	4,080
0	ABBY R WEISBERG	1,500.000	18.950	28,425
0	STATE STREET BANK AND TRUST CO CUST	659.631	18.950	12,500
0	STATE STREET BANK AND TRUST CO CUST	263.852	18.950	5,000
0	JAMES J NOWELL &	293.900	18.950	5,569
0	STATE STREET BANK AND TRUST CO CUST	179.351	18.950	3,398
0	STATE STREET BANK AND TRUST CO CUST STATE STREET BANK AND TRUST CO CUST	120.032	18.950	2,274
0		2.618	18.950	49
0	EILEEN C WHITAKER TR	3,000.000	18.950	56,850
0	STATE STREET BANK AND TRUST CO CUST	190.132	18.950	3,603
0	STATE STREET BANK AND TRUST CO CUST PROCESS DATE 12/31/01	12.347 MONTHLY FORM 23C-1	18.950 REPORT	233
	076 2	T. FUNDO		
	076-SELIGMAN GROUP OF	F FUNDS 097-TRI-CONTINENTA	L CORPORATION -	- COMMON PR
0		ORDER	COST	ORD
-	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	1,319.261	18.950	25,000

0	STATE STREET BANK AND TRUST CO CUST	13.826	18.950	262
0	STATE STREET BANK AND TRUST CO CUST	643.799	18.950	12,200
0	STATE STREET BANK AND TRUST CO CUST	105.541	18.950	2,000
0	ROBERT J BOULA	80.000	18.950	1,516
0	MILTON WALLACE & ENID WALLACE CO-	256.920	18.950	4,868
0	STATE STREET BANK AND TRUST CO CUST	8.041	18.950	152
0	WALTER O FITCH III	2,638.522	18.950	50,000
0	STATE STREET BANK AND TRUST CO CUST	12.739	18.950	241
0	CASIMER J SZALKOWSKI &	829.873	18.950	15 , 726
0	GEORGE F BOMELY &	100.000	18.950	1 , 895
0	ANN F WOHL	1,194.685	18.950	22 , 639
0	STATE STREET BANK AND TRUST CO CUST	16.324	18.950	309
0	STATE STREET BANK AND TRUST CO CUST	44.827	18.950	849
0	APHRODITE CHRISTIE	2,898.577	18.950	54 , 928
0	DONNA M FELICE	1,714.306	18.950	32,486
0	MARJORIE S MERRIAM	100.000	18.950	1,895
0	ADELLE J VAN DAALEN TR UA 1/24/94	1,355.001	18.950	25 , 677
0	STATE STREET BANK AND TRUST CO CUST	316.623	18.950	6,000
0	JOHN W DOBBERTIN	546.029	18.950	10,347
0	LUBY, OLSON, MANGO, GAFFNEY &	3,420.852	18.950	64,825
0	GRAHAM B KRETCHMAN	230.189	18.950	4,362
0	FRANCIS R MCCARROLL	52.770	18.950	1,000
1 F	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1	REPORT	

076-SELIGMAN GROUP OF FUNDS

		097-TRI-CONTINENTAL	CORPORATION -	COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	31.999	18.950	606
0	STATE STREET BANK AND TRUST CO CUST	38.568	18.950	730
0	ANDY AGUIRRE &	105.541	18.950	2,000
0	LEZLEY TAYLOR	79.156	18.950	1,500
0	HOMESTEAD VILLAGE INC	79.031	18.950	1,497
0	STATE STREET BANK AND TRUST CO CUST	31.662	18.950	600
0	THOMAS W OWENS JR	37.000	18.950	701
0	BRUCE C INGRAM	398.773	18.950	7 , 556
0	JAMES E MULVANEY JR	200.000	18.950	3 , 790
0	STATE STREET BANK AND TRUST CO CUST	2.437	18.950	4 6
0	ALFRED FELICE	1,535.972	18.950	29 , 106
0	BARBARA BALLINGER	3.743	18.950	70
0	SALLIE BLOCK	15.831	18.950	300
0	DAVID J YAPCHANYK &	81.808	18.950	1,550
0	MARK JONES &	419.814	18.950	7 , 955
0	JANET D DALEY	10,270.000	18.950	194 , 616
0	RICHARD A HOLMES &	527.704	18.950	10,000
0	JANE L POTTER	369.393	18.950	7,000
0	GENEVIEVE KEIMOWITZ	237.467	18.950	4,500
0	WELLS FARGO BANK NA EXEC	230.000	18.950	4 , 358
0	MICHAEL OLSHEN	119.341	18.950	2,261
0	JOAN P SUBLETT	3,642.084	18.950	69 , 017
0	GLADYS COLEMAN	6.845	18.950	129
1 F	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1 H	REPORT	

076-SELIGMAN GROUP OF FUNDS

		097-TRI-CONTINENTAL	CORPORATION - COMM	ON PR
0		ORDER	COST	ORD
REGISTRAT1	ION	SHARES	PRICE	DOLL
	PRICE DATE TOTALS	52,132.562		987 , 912
1 PROCESS DAT	TE 12/31/01	MONTHLY FORM 23C-1	REPORT	

		097-TRI-CONTINENTAL	CORPORATION -	COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	529.065	18.800	9,946
0	STATE STREET BANK AND TRUST CO CUST	40.303	18.800	757
0	STATE STREET BANK & TRUST CO CUST	158.961	18.800	2 , 988
0	STATE STREET BANK AND TRUST CO CUST	33.656	18.800	632
0	STATE STREET BANK AND TRUST CO CUST	7.956	18.800	149
0	STATE STREET BANK AND TRUST CO CUST	106.383	18.800	2,000
0	STATE STREET BANK AND TRUST CO CUST	295.140	18.800	5 , 548
0	STATE STREET BANK AND TRUST CO CUST	10.691	18.800	201
0	STATE STREET BANK AND TRUST CO CUST	95.240	18.800	1,790
0	STATE STREET BANK AND TRUST CO CUST	49.056	18.800	922
0	JOEL J RE	8.032	18.800	151
0	HAROLD G WRIGHT &	266.010	18.800	5,001
0	STATE STREET BANK AND TRUST CO CUST	118.343	18.800	2,224
0	BRADLEY ORMES TR U/A 11/15/89	79.840	18.800	1,501
0	STATE STREET BANK AND TRUST CO CUST	266.938	18.800	5,018
0	MARIE H BLISS TR UA 11/4/88	53.244	18.800	1,001
0	MARGUERITE HOBBIE &	106.436	18.800	2,001
0	STATE STREET BANK AND TRUST CO CUST	59.343	18.800	1,115
0	STATE STREET BANK AND TRUST CO CUST	8.817	18.800	165
0	ROSELLE G FRIEDMAN	319.202	18.800	6 , 001
0	STATE STREET BANK AND TRUST CO CUST	106.436	18.800	2,001
0	STATE STREET BANK AND TRUST CO CUST	53.244	18.800	1,001
0	STATE STREET BANK AND TRUST CO CUST	72.789		1,368
	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1		1,500
	12/31/01	HOMITHE FORM 25C F	INDI OINI	
	076-SELIGMAN GROUE	OF FUNDS		
	O/O DEBIGIENT OROOT	097-TRI-CONTINENTAL	CORPORATION -	COMMON PR
0		ORDER	COST	ORD
Ŭ	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	1,277.898	18.800	24,024
0	NORMA C ATKINSON	26.649	18.800	501
0	STATE STREET BANK AND TRUST CO CUST	57.216	18.800	1,075
0	H GORDON CHRISTIAN & JEAN	13.351	18.800	251
0	JULIA G HASSON	42.606	18.800	801
0	RAYMOND L HAWTHORNE	53.244	18.800	1,001
0	DOUGLAS IRWIN & CAROL	8.032	18.800	151
0	THELMA J PROUDFIT	239.415	18.800	4,501
0	WILLIAM L PROUDFIT	239.415	18.800	4,501
0	WILLIAM M SCHLEIER	53.244	18.800	1,001
0	STATE STREET BANK AND TRUST CO CUST	87.819	18.800	1,651
0	DANIEL M WILSON &	159.627	18.800	3,001
0	JOEL P CHERRY	8.032	18.800	151
0	STATE STREET BANK AND TRUST CO CUST	5.372	18.800	101
0	STATE STREET BANK AND TRUST CO CUST	797.925	18.800	15,001
0	JEAN J CHATLAIN TR UA 6/24/70	37.287	18.800	701
0	STATE STREET BANK AND TRUST CO CUST	189.818	18.800	3,568
0		21.330		3,368 401
0	GAIL R INGRAM STATE STREET BANK AND TRUST CO CUST	838.377	18.800	401 15 , 761
0	STATE STREET BANK AND TRUST CO CUST	952.238	18.800 18.800	
				17,902
0	STATE STREET BANK AND TRUST CO CUST	404.153	18.800	7,598
0	STATE STREET BANK AND TRUST CO CUST	112.737	18.800	2,119
0	STATE STREET BANK AND TRUST CO CUST	8.032	18.800	151
Τ	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1	KEPUKI	
	ATC OFF TOWARD OF STREET	OE EUNDC		
	076-SELIGMAN GROUP		CODDODATION	COMMON
0		097-TRI-CONTINENTAL		
0	DECICTDATION	ORDER	COST	ORD DOLL
0	REGISTRATION STATE STREET BANK AND TRUST CO CUST	SHARES 69.118	PRICE 18.800	1,299
U	SIAIE SIREEI DANK AND IKUSI CO CUSI	09.110	10.000	1,299

0	STATE	STREET	BANK	AND	TRUST	CO	CUST	18.596	18.800	349
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	115.564	18.800	2,172
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	288.893	18.800	5,431
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	427.260	18.800	8,032
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	206.828	18.800	3,888
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	42.852	18.800	805
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	79.840	18.800	1,501
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	52.144	18.800	980
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	133.032	18.800	2,501
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	37.287	18.800	701
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	31.968	18.800	601
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	63.883	18.800	1,201
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	37.473	18.800	704
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	755.038	18.800	14,194
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	515.019	18.800	9,682
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	55.796	18.800	1,048
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	946.190	18.800	17,788
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	345.634	18.800	6,497
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	21.330	18.800	401
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	185.434	18.800	3,486
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	588.063	18.800	11,055
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	33.122	18.800	622
1	PROCESS	DATE		12,	/31/01			MONTHLY FORM 23C-	-1 REPORT	

076-SELIGMAN GROUP OF FUNDS

		097-TRI-CONTINENTAL	CORPORATION -	COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	RUTH ANNE HERTERICH	3.989	18.800	75
0	STANLEY E GWYNN &	159.627	18.800	3,001
0	MARY V KEE	26.649	18.800	501
0	CHARLES L SARDINIA	66.542	18.800	1,251
0	MARGARET DALE SEABROOK	239.415	18.800	4,501
0	WILLIAM J SCHLACTER	10.691	18.800	201
0	STATE STREET BANK AND TRUST CO CUST	266.010	18.800	5,001
0	ALBERT HANEN &	106.436	18.800	2,001
0	STATE STREET BANK AND TRUST CO CUST	53.244	18.800	1,001
0	STATE STREET BANK AND TRUST CO CUST	6.968	18.800	131
0	STATE STREET BANK AND TRUST CO CUST	547.549	18.800	10,293
0	STATE STREET BANK AND TRUST CO CUST	205.147	18.800	3 , 856
0	STATE STREET BANK AND TRUST CO CUST	92.728	18.800	1,743
0	STATE STREET BANK AND TRUST CO CUST	71.815	18.800	1,350
0	STATE STREET BANK AND TRUST CO CUST	20.000	18.800	376
0	STATE STREET BANK AND TRUST CO CUST	133.032	18.800	2,501
0	ELISABETH H BROOKS	53.244	18.800	1,001
0	STATE STREET BANK AND TRUST CO CUST	690.988	18.800	12,990
0	STATE STREET BANK AND TRUST CO CUST	169.879	18.800	3,193
0	MARINETTE D PUTNAM	53.244	18.800	1,001
0	PHYLLIS TROY	18.670	18.800	351
0	PEGGY LANGE	39.947	18.800	751
0	STATE STREET BANK AND TRUST CO CUST	73.750	18.800	1,386
1 P	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1 I	REPORT	

		097-TRI-CONTINENTAL	CORPORATION -	COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	L BENTON AUSTIN &	10.691	18.800	201
0	STATE STREET BANK AND TRUST CO CUST	1.839	18.800	34
0	STATE STREET BANK AND TRUST CO CUST	460.432	18.800	8 , 656
0	STATE STREET BANK AND TRUST CO CUST	83.121	18.800	1,562
0	STATE STREET BANK AND TRUST CO CUST	554.105	18.800	10,417

0	STATE STREET				53.244	18.800	1,001
0	STATE STREET				27.866	18.800	523
0	STATE STREET				13.786	18.800	259
0	STATE STREET				509.576	18.800	9,580
0	STATE STREET				556.650	18.800	10,465
0	STATE STREET				198.366	18.800	3,729
0	STATE STREET				142.572	18.800	2,680
0	STATE STREET				60.444	18.800	1,136
0	STATE STREET				178.115	18.800	3,348
0	STATE STREET				142.570	18.800	2,680
0	STATE STREET STATE STREET				53.244	18.800	1,001
	STATE STREET				216.348	18.800	4,067
0	STATE STREET				10.691 37.272	18.800 18.800	201 700
0	STATE STREET				175.585	18.800	3 , 301
0	STATE STREET				56.588		
0	STATE STREET				18.733	18.800	1,063 352
0	STATE STREET				266.010	18.800	5 , 001
			12/31/01	0 0051	MONTHLY FORM 23C-1 F		3,001
Ι Ι	PROCESS DATE	1	12/31/01		MONIALI FORM 23C-1 F	NEFOR1	
			076-SE	LIGMAN	GROUP OF FUNDS		
^					097-TRI-CONTINENTAL		
0	DEGLOSS				ORDER	COST	ORD
•	REGISTRATION				SHARES	PRICE	DOLI
0	STATE STREET					18.800	1,069
0	STATE STREET				486.156		9,139
0	STATE STREET					18.800	41
0	STATE STREET		ND IRUSI C	O CUSI	29.308	18.800	551
0	ROBERT W LESS		ID MDIIOM O	0.01105	10.691	18.800	201
0	STATE STREET				49.215	18.800	925
0	STATE STREET				24.401	18.800	458
0	STATE STREET		ND IRUSI C	0 0051	792.532	18.800	14,899
0	LILLIE MAE SI STATE STREET		ID TRICT O	O CHICT	37.287 266.010	18.800 18.800	701
0	THEODORE I B		ND IRUSI C	0 0051	4.308	18.800	5 , 001 81
0	STATE STREET		ID TRICT O	O CHICT	73.924	18.800	
0	STATE STREET				233.114	18.800	1,389 4,382
0	STATE STREET				35.699	18.800	4,382 671
0	STATE STREET				188.181	18.800	3,537
0	STATE STREET				739.848	18.800	13,909
0	STATE STREET				37.772	18.800	710
0	STATE STREET				5.657	18.800	106
0	STATE STREET				558.181	18.800	
0	STATE STREET				28.700	18.800	539
0	STATE STREET				37.287	18.800	701
0	STATE STREET						
0	STATE STREET				769.781		
			12/31/01	0 0001	MONTHLY FORM 23C-1 F		11,111
			076 08	TECMANI	CDOUD OF FUNDS		
			0/6-SE	LIGMAN	GROUP OF FUNDS 097-TRI-CONTINENTAL	CORPORATION	- COMMON PR
0					ORDER	COST	ORD
	REGISTRATION				SHARES	PRICE	DOLL
0	STATE STREET	BANK AN	ND TRUST C	O CUST		18.800	1,591
	STATE STREET				74.224	18.800	1,395
0	STATE STREET				1,147.862		
0					273.154		
	STATE STREET				68.506	18.800	1,287
0	STATE STREET STATE STREET	BANK AN	ND TRUST C	O CUST		10.000	1,201
0					60.041	18.800	1,128
0 0 0	STATE STREET	BANK AN	ND TRUST C	O CUST	60.041	18.800	
0 0 0	STATE STREET STATE STREET	BANK AN	ND TRUST C	O CUST	60.041 179.633		1,128

0	STATE STREET								246.398	18.800	4,632
0	STATE STREET								43.012	18.800	808
0	STATE STREET	BANK	AND	TRUST	CO	CUST			92.309	18.800	1,735
0	STATE STREET								502.999	18.800	9,456
0	STATE STREET								21.815	18.800	410
0	STATE STREET								110.339	18.800	2,074
0	STATE STREET	BANK	AND	TRUST	СО	CUST			35.784	18.800	672
0	STATE STREET								11.223	18.800	211
0	STATE STREET								61.452	18.800	1,155
0	STATE STREET								593.612	18.800	11,159
0	STATE STREET								171.610	18.800	3,226
0	STATE STREET								8.032	18.800	151
0	STATE STREET								439.462	18.800	8,261
0	STATE STREET	BANK			СО	CUST			201.824	18.800	3,794
1	PROCESS DATE		12,	/31/01					MONTHLY FORM 23C-1	REPORT	
				076-5	SELI	IGMAN	GROUP (ΟF	FUNDS		
									097-TRI-CONTINENTAL	L CORPORATION	
0									ORDER	COST	ORI
	REGISTRATION								SHARES	PRICE	DOLI
0	STATE STREET								53.191	18.800	1,000
0	STATE STREET								6.941	18.800	130
0	STATE STREET								47.879	18.800	900
0	STATE STREET								21.277	18.800	400
0	STATE STREET								15.957	18.800	300
0	STATE STREET								196.565	18.800	3 , 695
0	STATE STREET	BANK	AND	TRUST	СО	CUST			212.085	18.800	3 , 987
0	STATE STREET	BANK	AND	TRUST	СО	CUST			79.840	18.800	1,501
0	STATE STREET			TRUST	СО	CUST			106.540	18.800	2,002
0	BERTRAND J F								21.330	18.800	401
0	PEGGY HANCOCI								8.032	18.800	151
0	STATE STREET								203.550	18.800	3,826
0	STATE STREET								26.649	18.800	501
0	STATE STREET								26.649	18.800	501
0	STATE STREET								15.952	18.800	299
0	STATE STREET								161.316	18.800	3,032
0	STATE STREET								6.545	18.800	123
0	STATE STREET								2.713	18.800	51
0	STATE STREET	BANK	AND	TRUST	СО	CUST			30.330	18.800	570
0	MIN NATHAN								10.691	18.800	201
0	STATE STREET								81.934	18.800	1,540
0	STATE STREET								53.244	18.800	1,001
0	STATE STREET	BANK			CO	CUST			13.351 MONTHLY FORM 23C-1	18.800	251
Τ	PROCESS DATE		12,	/31/01					MONITEL FORM 23C-1	VELOKI	
				076-5	SELI	IGMAN	GROUP (ΟF		CODDODAMICI	COMMON
^									097-TRI-CONTINENTAL		
0	DECTORDARTON								ORDER	COST	ORI
^	REGISTRATION	ר א דו די	7/ 3/10	TDIIOT	00	OII OTT			SHARES	PRICE	DOLI
0	STATE STREET								462.157	18.800	8,688
0	STATE STREET								37.287	18.800	701
0	STATE STREET								111.604	18.800	2,098
0	STATE STREET								113.570	18.800	2,135
0	STATE STREET								26.649	18.800	501
0	STATE STREET								16.010	18.800	301
0	STATE STREET								22.010	18.800	413
0	STATE STREET								194.972	18.800	3,665
0	STATE STREET								16.482	18.800	309
0	STATE STREET								446.556	18.800	8,395
0	STATE STREET								40.979	18.800	77(
0	STATE STREET								199.888	18.800	3,757
0	STATE STREET	BANK	AND	IKUSI	CO	CUST			132.112	18.800	2,483

0	STATE	STREET	BANK	AND	TRUST	СО	CUST	118.170 18.800	2,221
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	63.125 18.800	1,186
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	229.451 18.800	4,313
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	33.192 18.800	624
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	201.938 18.800	3,796
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	44.149 18.800	830
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	10.986 18.800	206
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	135.724 18.800	2,551
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	239.415 18.800	4,501
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	27.744 18.800	521
1	PROCESS	DATE		12,	/31/01			MONTHLY FORM 23C-1 REPORT	
					076-9	SEL	CMAN	GROUP OF FUNDS	

076-SELIGMAN GROUP OF FUNDS

		097-TRI-CONTINENTAL	CORPORATION -	- COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	105.159	18.800	1,977
0	STATE STREET BANK AND TRUST CO CUST	42.606	18.800	801
0	STATE STREET BANK AND TRUST CO CUST	13.750	18.800	258
0	STATE STREET BANK AND TRUST CO CUST	31.968	18.800	601
0	STATE STREET BANK AND TRUST CO CUST	28.052	18.800	527
0	STATE STREET BANK AND TRUST CO CUST	19.983	18.800	375
0	STATE STREET BANK AND TRUST CO CUST	31.790	18.800	597
0	STATE STREET BANK AND TRUST CO CUST	39.947	18.800	751
0	STATE STREET BANK AND TRUST CO CUST	373.013	18.800	7,012
0	STATE STREET BANK AND TRUST CO CUST	2,295.266	18.800	43,151
0	STATE STREET BANK AND TRUST CO CUST	51.393	18.800	966
0	STATE STREET BANK AND TRUST CO CUST	161.493	18.800	3,036
0	STATE STREET BANK AND TRUST CO CUST	236.786	18.800	4,451
0	STATE STREET BANK AND TRUST CO CUST	106.436	18.800	2,001
0	STATE STREET BANK AND TRUST CO CUST	10.691	18.800	201
0	STATE STREET BANK AND TRUST CO CUST	319.202	18.800	6,001
0	STATE STREET BANK AND TRUST CO CUST	70.748	18.800	1,330
0	STATE STREET BANK AND TRUST CO CUST	273.349	18.800	5,138
0	STATE STREET BANK AND TRUST CO CUST	227.346	18.800	4,274
0	STATE STREET BANK AND TRUST CO CUST	224.989	18.800	4,229
0	STATE STREET BANK AND TRUST CO CUST	66.779	18.800	1,255
0	STATE STREET BANK AND TRUST CO CUST	147.916	18.800	2,780
0	STATE STREET BANK AND TRUST CO CUST	182.251	18.800	3,426
1	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1	REPORT	

		097-TRI-CONTINENTAL	CORPORATION -	COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	82.038	18.800	1,542
0	STATE STREET BANK AND TRUST CO CUST	37.401	18.800	703
0	STATE STREET BANK AND TRUST CO CUST	154.914	18.800	2,912
0	STATE STREET BANK AND TRUST CO CUST	69.729	18.800	1,310
0	STATE STREET BANK AND TRUST CO CUST	599.253	18.800	11,265
0	EVELYN G CRAIG &	26.649	18.800	501
0	STATE STREET BANK AND TRUST CO CUST	16.412	18.800	308
0	STATE STREET BANK AND TRUST CO CUST	137.434	18.800	2,583
0	STATE STREET BANK AND TRUST CO CUST	182.087	18.800	3,423
0	STATE STREET BANK AND TRUST CO CUST	47.106	18.800	885
0	STATE STREET BANK AND TRUST CO CUST	33.402	18.800	627
0	JOHN M THRESS &	26.649	18.800	501
0	STATE STREET BANK AND TRUST CO CUST	128.073	18.800	2,407
0	STATE STREET BANK AND TRUST CO CUST	47.065	18.800	884
0	STATE STREET BANK AND TRUST CO CUST	24.329	18.800	457
0	STATE STREET BANK AND TRUST CO CUST	2.180	18.800	40
0	STATE STREET BANK AND TRUST CO CUST	24.774	18.800	465

48.057 18.800

903

O STATE STREET BANK AND TRUST CO CUST

U	STATE SIMEET DANK AND IMOST CO COST	40.037	903
0	STATE STREET BANK AND TRUST CO CUST	52.762 18.800	991
0	STATE STREET BANK AND TRUST CO CUST	26.649 18.800	501
0	ANN V ELMQUIST &		501
	_		
0	STATE STREET BANK AND TRUST CO CUST		064
0	STATE STREET BANK AND TRUST CO CUST	312.788 18.800 5,	880
1 E	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1 REPORT	
	076-SELIGMAN G	CROUP OF FUNDS	
	070 SEDIONAN GI		חח
			PR
0			ORD
	REGISTRATION	SHARES PRICE D	OLL
0	STATE STREET BANK AND TRUST CO CUST	26.649 18.800	501
0	STATE STREET BANK AND TRUST CO CUST		183
			201
0	JULIUS MAYER &		
0	RALPH K B CLAY		101
0	STATE STREET BANK AND TRUST CO CUST	146.589 18.800 2,	755
0	STATE STREET BANK AND TRUST CO CUST	44.093 18.800	828
0	STATE STREET BANK AND TRUST CO CUST	25.744 18.800	483
0	STATE STREET BANK AND TRUST CO CUST		301
0	STATE STREET BANK AND TRUST CO CUST		938
0	ROBERT M SUGERMAN		001
0	STANLEY A MACBETH	63.883 18.800 1,	201
0	STATE STREET BANK AND TRUST CO CUST	589.112 18.800 11,	075
0	STATE STREET BANK AND TRUST CO CUST		001
	STATE STREET BANK AND TRUST CO CUST		456
0			
0	STATE STREET BANK AND TRUST CO CUST		271
0	KATHRYN LEE SYMINGTON		501
0	STATE STREET BANK AND TRUST CO CUST	21.402 18.800	402
0	STATE STREET BANK AND TRUST CO CUST	88.274 18.800 1,	659
0	STATE STREET BANK AND TRUST CO CUST		000
0	LORRAINE J BARBER		729
0	STATE STREET BANK AND TRUST CO CUST		816
0	STATE STREET BANK AND TRUST CO CUST		824
0	STATE STREET BANK AND TRUST CO CUST	253.347 18.800 4,	762
1 E	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1 REPORT	
	076-SELIGMAN G	GROUP OF FUNDS	
	*** ***********************************		PR
0			
0			ORD
	REGISTRATION		OLL
0	STATE STREET BANK AND TRUST CO CUST	22.675 18.800	426
0	STATE STREET BANK AND TRUST CO CUST	184.588 18.800 3,	470
0	STATE STREET BANK AND TRUST CO CUST	73.702 18.800 1,	385
0	STATE STREET BANK AND TRUST CO CUST		447
	STATE STREET BANK AND TRUST CO CUST	·	
0		•	548
0	STATE STREET BANK AND TRUST CO CUST		269
0	FREDERICK F FORDON TR U/A 2/4/92	70.798 18.800 1,	331
0	STATE STREET BANK AND TRUST CO CUST	74.253 18.800 1,	395
0	MONTCALM LACOMBE &	26.649 18.800	501
0	STATE STREET BANK AND TRUST CO CUST		501
0	STATE STREET BANK AND TRUST CO CUST		514
0	STATE STREET BANK AND TRUST CO CUST		219
0	STATE STREET BANK AND TRUST CO CUST	14.265 18.800	268
0	STATE STREET BANK AND TRUST CO CUST	292.559 18.800 5,	500
0	ROBERT T WRAY &	42.606 18.800	801
0	STATE STREET BANK AND TRUST CO CUST		141
0	STATE STREET BANK AND TRUST CO CUST		001
0	WILLARD P FULLER JR TTEE	21.330 18.800	401
0	STATE STREET BANK AND TRUST CO CUST		407
0	STATE STREET BANK AND TRUST CO CUST		595
0	STATE STREET BANK AND TRUST CO CUST	389.431 18.800 7,	321
		•	

66.709	18.800	1,25 4,00
		4,00
MONITHE FORM 25C F	KBI OKI	
JNDS		
		OR
		DOL 40
		50
		50
		1,40
31.968	18.800	60
42.606	18.800	80
244.773	18.800	4,60
355.584	18.800	6,68
10.263	18.800	19
63.883	18.800	1,20
127.037	18.800	2,38
71.617	18.800	1,34
26.649	18.800	50
	18.800	20
		13,13
		20
		27 7
		3 , 74
		1,84
		1,84 7,76
		1,24
		2,00
		2,00
		OR
		DOL
		2 , 00
		15
		30
		17
		32
79.543	18.800	1,49
74.521	18.800	1,40
61.223	18.800	1,15
310.453	18.800	5,83
186.223	18.800	3,50
572.296	18.800	10,75
13.994	18.800	26
37.287	18.800	70
79.840	18.800	1,50
133.032	18.800	2,50
10.691	18.800	20
	40000	2.0
10.691	18.800	
294.332	18.800	5 , 53
294.332 174.057	18.800 18.800	5,53 3,27
294.332 174.057 10.691	18.800 18.800 18.800	5,53 3,27 20
294.332 174.057 10.691 2,371.467	18.800 18.800 18.800 18.800	20 5,53 3,27 20 44,58
294.332 174.057 10.691	18.800 18.800 18.800 18.800	5,53 3,25 20
	212.819 MONTHLY FORM 23C-1 JINDS 097-TRI-CONTINENTAL ORDER SHARES 21.330 26.649 26.649 24.606 244.773 355.584 10.263 63.883 127.037 71.617 26.649 10.691 698.491 10.691 14.416 4.042 199.060 98.318 413.170 65.997 106.436 MONTHLY FORM 23C-1 JINDS 097-TRI-CONTINENTAL ORDER SHARES 106.383 39.947 8.032 16.010 9.362 17.340 79.543 74.521 61.223 310.453 186.223 572.296 13.994 37.287 79.840 133.032	212.819

53.244 ___ MONTHLY FORM 23C-1 REPORT

076-SELIGMAN GROUP OF FUNDS

	0/0 SELIGIAN GROOF C			
0		097-TRI-CONTINENTAL		
0	PROTORD ARTON	ORDER	COST	ORD
^	REGISTRATION	SHARES	PRICE	DOLL
0	LEONARD F LA BELLE &	34.627	18.800	651
0	ROBERT H PENNOCK TR	2.713	18.800	51
0	ROBERT B KIMSEY &	10.691	18.800	201
0	STATE STREET BANK AND TRUST CO CUST	42.606	18.800	801
0	JOHN R STERLING TOD ELIZABETH	8.032	18.800	151
0	STATE STREET BANK AND TRUST CO CUST	133.032	18.800	2,501
0	STATE STREET BANK AND TRUST CO CUST	337.190	18.800	6 , 339
0	STATE STREET BANK AND TRUST CO CUST	52.666	18.800	990
0	STATE STREET BANK AND TRUST CO CUST	52.666	18.800	990
0	CHARLES M MARSHALL	13.351	18.800	251
0	STATE STREET BANK AND TRUST CO CUST	210.928	18.800	3 , 965
0	STATE STREET BANK AND TRUST CO CUST	22.540	18.800	423
0	STATE STREET BANK AND TRUST CO CUST	97.622	18.800	1,835
0	STATE STREET BANK AND TRUST CO CUST	248.136	18.800	4,664
0	MARY E HOBACK	21.330	18.800	401
0	STATE STREET BANK AND TRUST CO CUST	47.925	18.800	901
0	ARTHUR H DELANEY &	26.649	18.800	501
0	STATE STREET BANK AND TRUST CO CUST	26.649	18.800	501
0	FRANCIS T ROSENDALE TOD	79.840	18.800	1,501
0	GEORGE ADELEWITZ &	8.032	18.800	151
0	STATE STREET BANK AND TRUST CO CUST	52.836	18.800	993
0	STATE STREET BANK AND TRUST CO CUST	53.244	18.800	1,001
0	JOE STEPHEN BEEBE	6.702	18.800	126
1	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1	REPORT	
0	076-SELIGMAN GROUP C	097-TRI-CONTINENTAL ORDER	CORPORATION COST	- COMMON PR ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	RONALD B EDGERTON TTEE	79.840	18.800	1,501
0	STATE STREET BANK AND TRUST CO CUST	57.693	18.800	1,084
0	LEVERT J ABLE	106.436	18.800	2,001
0	STATE STREET BANK AND TRUST CO CUST	515.449	18.800	9,690
0	PETER J MIHALAK TTEE	79.947	18.800	1 , 503
0	STATE STREET BANK AND TRUST CO CUST	121.617	18.800	2,286
0	STATE STREET BANK AND TRUST CO CUST	121.617	18.800	2 , 286
0	STATE STREET BANK AND TRUST CO CUST	121.617	18.800	2 , 286
0	EDWARD D SCHULTZ TTEE	10.691	18.800	201
0	NELL N RING &	18.723	18.800	352
0	STATE STREET BANK AND TRUST CO CUST	41.833	18.800	786
0	STATE STREET BANK AND TRUST CO CUST	41.833	18.800	786
0	STATE STREET BANK & TRUST CO CUST	2.169	18.800	40
0	SUSAN PINCHOT	5.372	18.800	101
0	TINA GIANAKIS	79.840	18.800	1,501
0	STATE STREET BANK AND TRUST CO CUST	39.947	18.800	751
0	H WINFIELD RUSSELL TTEE	16.010	18.800	301
0	STATE STREET BANK & TRUST CO CUST	338.675	18.800	6 , 367
0	STATE STREET BANK & TRUST CO CUST	101.392	18.800	1,906
0	DOROTHY MAE STEINKAMP TTEE	26.649	18.800	501
0	ADLYNN G BUERGER	10.691	18.800	201
-1	PRICE DATE TOTALS	58,096.461		1,092,214
1	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1	KEPORT	
	076-SELIGMAN GROUP C	OF FIINDS		
	0/0-SELIGMAN GROUP C	097-TRI-CONTINENTAL	CORPORATION	- COMMON PR
0		ODDED	COST	ODD

REGISTRATION

ORDER SHARES

COST

PRICE

ORD

DOLI

0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	AND T	RUST (CO	CUST			1.064		18.800	
0	STATE	STREET	BANK	& TRU	ST CO	CU	IST			1.064		18.800	
0	STATE	STREET	BANK	& TRU	ST CO	CU	IST			1.064		18.800	
0	STATE	STREET	BANK	& TRU	ST CO	CU	IST			1.064		18.800	
0	STATE	STREET	BANK	& TRU	ST CO	CU	IST			1.064		18.800	
0	STATE	STREET	BANK	& TRU	ST CO	CU	IST			1.064		18.800	
0	STATE	STREET	BANK	& TRU	ST CO	CU	IST			1.064		18.800	
1	PROCESS	DATE		12/3	1/01			Ι	ONTHLY	FORM 23C-1	REPO	DRT	

076-SELIGMAN GROUP OF FUNDS

								097-TRI-CONTINENTAL	CORPORATION - COMMON	PR
0								ORDER	COST	ORD
	REGIS:	TRATION						SHARES	PRICE	DOLL
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800	20
0	_	STREET						1.064	18.800	20
0	_	STREET						1.064	18.800	20
0	_	STREET						1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800	20
0	_	STREET						1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800	20
0	_	STREET						1.064	18.800	20
0	_	STREET						1.064	18.800	20
0	_	STREET						1.064	18.800	20
0	_	STREET						1.064	18.800	20
0	_	STREET	BANK			СО	CUST	1.064	18.800	20
1	PROCESS	DATE		12,	/31/01			MONTHLY FORM 23C-1	REPORT	

076-SELIGMAN GROUP OF FUNDS

					0 / 0 1		OLIZIIV	GITOOI	OI	I OINDD				
										097-TRI	-CONTINENTAL	CORPORATION	- COMMON	PF
0											ORDER	COST		ORE
	REGIST	RATION									SHARES	PRICE		DOLI
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20

0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
1	PROCESS	DATE		12.	/31/01			MONTHLY FORM 23C-1	REPORT	

076-SELIGMAN GROUP OF FUNDS

								097-TRI-CONTINENTAL CORPORATION - COMMON P
0								ORDER COST OR
	REGIS:	TRATION						SHARES PRICE DOL
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 2
1	PROCESS	DATE		12,	/31/01			MONTHLY FORM 23C-1 REPORT

								097-TRI-CONTINENTAL	CORPORATION - COMMON	PR
0								ORDER	COST	ORD
	REGIST	RATION						SHARES	PRICE	DOLL
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20

0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
1	PROCESS	DATE		12/	/31/01			MONTHLY	FORM 23C-1	REPORT	

076-SELIGMAN GROUP OF FUNDS

		097-TRI-CONTINENTAL	CORPORATION - COMMON	PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
1	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1 H	REPORT	

		097-TRI-CONTINENTAL CORPORATION - COMMON	I PR
C		ORDER COST	ORD
	REGISTRATION	SHARES PRICE	DOLI
C	STATE STREET BANK AND TRUST CO CUST	1.064 18.800	20
C	STATE STREET BANK AND TRUST CO CUST	1.064 18.800	20
C	STATE STREET BANK AND TRUST CO CUST	1.064 18.800	20
C	STATE STREET BANK AND TRUST CO CUST	1.064 18.800	20
C	STATE STREET BANK AND TRUST CO CUST	1.064 18.800	20
C	STATE STREET BANK AND TRUST CO CUST	1.064 18.800	20
C	STATE STREET BANK AND TRUST CO CUST	1.064 18.800	20
C	STATE STREET BANK AND TRUST CO CUST	1.064 18.800	20
C	STATE STREET BANK AND TRUST CO CUST	1.064 18.800	20
C	STATE STREET BANK AND TRUST CO CUST	1.064 18.800	20
C	STATE STREET BANK AND TRUST CO CUST	1.064 18.800	20
C	STATE STREET BANK AND TRUST CO CUST	1.064 18.800	2.0

0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
1	PROCESS	DATE		12,	/31/01			MONTHLY FORM 23C-1	REPORT	

076-SELIGMAN GROUP OF FUNDS

								097-TRI-CONTINENTAL	CORPORATION -	COMMON	PR
0								ORDER	COST		ORD
	REGIST	TRATION						SHARES	PRICE		DOLL
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
1	PROCESS	DATE		12,	/31/01			MONTHLY FORM 23C-1	REPORT		

						097-TRI-CONTINENTAL	CORPORATION -	COMMON	PF
						ORDER	COST		ORE
REGISTRATION						SHARES	PRICE		DOLI
STATE STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	CO	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800		20
STATE STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800		20
	STATE STREET	STATE STREET BANK	STATE STREET BANK AND	STATE STREET BANK AND TRUST	STATE STREET BANK AND TRUST CO	REGISTRATION STATE STREET BANK AND TRUST CO CUST	CORDER REGISTRATION SHARES STATE STREET BANK AND TRUST CO CUST C	REGISTRATION SHARES PRICE STATE STREET BANK AND TRUST CO CUST 1.064 18.800	REGISTRATION SHARES PRICE STATE STREET BANK AND TRUST CO CUST 1.064 18.800

0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800	20
1	PROCESS	DATE		12/	/31/01			MONTHLY FORM 23C-1 REPORT	

076-SELIGMAN GROUP OF FUNDS

								097-TRI-CONTINENTAL CORPORATION - COMMON PF
0								ORDER COST ORD
	REGIST	TRATION						SHARES PRICE DOLI
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 20
1	PROCESS	DATE		12,	/31/01			MONTHLY FORM 23C-1 REPORT

		070 DEELGIEM GROOT OF	LONDO		,
			097-TRI-CONTINENTAL	CORPORATION - COMMON	PR
0			ORDER	COST	ORD
	REGISTRATION		SHARES	PRICE	DOLL
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TR	RUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND	TRUST CO CUST	1.064	18.800	20

0	STATE	STREET	BANK A	AND	TRUST	CO	CUST	1.064	18.800	20
0	STATE	STREET	BANK A	AND '	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK A	AND T	TRUST	СО	CUST	1.064	18.800	20
1	PROCESS	DATE		12/3	31/01			MONTHLY FORM 23C-1	REPORT	

076-SELIGMAN GROUP OF FUNDS

					0 / 0 .	ـ تـ تـ ر	LOLIMIN (JIVOOI	OI I	ONDS				
										097-TRI-	-CONTINENTAL	CORPORATION -	COMMON	PR
0											ORDER	COST		ORD
	REGIST	TRATION									SHARES	PRICE		DOLL
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
1	PROCESS	DATE		12,	/31/01					MONTHLY	FORM 23C-1	REPORT		

	0,0002220111111 011001 01	1 01.50		
		097-TRI-CONTINENTAL	CORPORATION - COMMON	PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
1	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1	REPORT	

	(076-SELIGMAN	GROUP	OF F	UNDS			
					097-TRI-CONTINENTAL	CORPORATION - 0	COMMON	PR
0					ORDER	COST		ORD
	REGISTRATION				SHARES	PRICE	D	OOLL
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE				1.064	18.800		20
0	STATE STREET BANK AND TE				1.064	18.800		20
0	STATE STREET BANK AND TE				1.064	18.800		20
0	STATE STREET BANK AND TE				1.064	18.800		20
0	STATE STREET BANK AND TR				1.064	18.800		20
0	STATE STREET BANK AND TR				1.064	18.800		20
0	STATE STREET BANK AND TR				1.064	18.800		20
0	STATE STREET BANK AND TR				1.064	18.800		20
0	STATE STREET BANK AND TR				1.064	18.800		20
0	STATE STREET BANK AND TR				1.064	18.800		20
0	STATE STREET BANK AND TR				1.064	18.800		20
0	STATE STREET BANK AND TR				1.064	18.800		20
1	PROCESS DATE 12/31	1/01			MONTHLY FORM 23C-1 F	REPORT		
	C	076-SELIGMAN	GROUP	OF F	UNDS			
					097-TRI-CONTINENTAL	CORPORATION - 0	COMMON	PR
0					ORDER	COST		ORD
	REGISTRATION				SHARES	PRICE	D	OOLL
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
0	STATE STREET BANK AND TE	RUST CO CUST			1.064	18.800		20
_								

	0/6-SELIGMAN GROUP	OF FUNDS		
		097-TRI-CONTINENTAL	CORPORATION - CC	MMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
1	DROCESS DATE 12/31/01	MONTHLY FORM 23C-1 I	REDORT	

076-SELIGMAN GROUP OF FUNDS

1 PROCESS DATE 12/31/01

0

097-TRI-CONTINENTAL CORPORATION - COMMON PR ORDER COST ORD

MONTHLY FORM 23C-1 REPORT

0 0 0 0 0											
0 0 0 0 0 0	REGIST	TRATION						SHARES	P	RICE	DOLL
0 0 0 0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0 0 0 0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0 0 0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
-	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
_	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064	18	.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18	.800	20
1	PROCESS			10	/31/01			MONTHLY FORM 230	~-1 REPORT	1	ľ
		DATE		12,	/ 21/ 01			11011111111 1 0101 200	O I KELOKI		
		DATE		12,	/31/01			HOWINEI FORT 200	o i ndioni		

								097-TRI-CONTINENTAL CORPORATION - COMMON F	PR
0								ORDER COST OF	۲D
	REGIS:	TRATION						SHARES PRICE DOI	ΊL
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	2 0
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	2 0
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	2 0
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	2 0
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	2 0
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	2 0
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	2 0
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	2 0
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	2 0
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	2 0
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	2 0
0	STATE	STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800 2	2 0
1	PROCESS	DATE		12,	/31/01			MONTHLY FORM 23C-1 REPORT	

		097-TRI-CONTINENTAL	CORPORATION - COMMO	N PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20

0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
0		STREET						1.064 18.800 20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800 20
1	PROCESS	-			/31/01	-		MONTHLY FORM 23C-1 REPORT
_	11100200	21112			01, 01			11011111111 1 01111 1 1 1 1 1 1 1 1 1 1

076-SELIGMAN GROUP OF FUNDS

					0,00		. OI II II CI CO CI	01 101.00			
								097-TRI	-CONTINENTAL	CORPORATION - COMM	ON PR
0									ORDER	COST	ORD
	REGISTE	RATION							SHARES	PRICE	DOLL
0	STATE S	STREET	BANK	AND	TRUST	CO	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	CO	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	CO	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	CO	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	CO	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	CO	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	CO	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	CO	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
0	STATE S	STREET	BANK	AND	TRUST	СО	CUST		1.064	18.800	20
1	PROCESS	DATE		12,	/31/01			MONTHLY	FORM 23C-1	REPORT	

							097-TRI-CONTINENTAL CORPORATION - COMMON	PR
0							ORDER COST	ORD
	REGISTRATION	1					SHARES PRICE	DOLL
0	STATE STREET	. BANK	AND	TRUST	СО	CUST	1.064 18.800	20
0	STATE STREET	. BANK	AND	TRUST	СО	CUST	1.064 18.800	20
0	STATE STREET	. BANK	AND	TRUST	СО	CUST	1.064 18.800	20
0	STATE STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800	20
0	STATE STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800	20
0	STATE STREET	BANK	AND	TRUST	СО	CUST	1.064 18.800	20
0	STATE STREET	BANK	AND	TRUST	CO	CUST	1.064 18.800	20

	Edgar Filing: TRI CONTINENTAL CORP - Form N-23C-1											
0	STATE STREE				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET STATE STREET				1.064 18.800	20 20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800 1.064 18.800	20						
	PROCESS DATE		12/31/01	CO COS1	MONTHLY FORM 23C-1 REPORT	20						
1	INOCESS DATE	1	12/31/01		FIGNITIES FORT 250 I NEI ONI							
			076-5	SELIGMAN	GROUP OF FUNDS							
					097-TRI-CONTINENTAL CORPORATION - COMMON	PR						
0					ORDER COST	ORD						
	REGISTRATION	1			SHARES PRICE	DOLL						
0	STATE STREET					20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET STATE STREET				1.064 18.800	20 20						
0	STATE STREET				1.064 18.800	20						
0	STATE STREET				1.064 18.800							
0	STATE STREET				1.064 18.800 1.064 18.800	20 20						
0	STATE STREET				1.064 18.800	20						
U	SIMIE SIMEE.	r DUMU AD	AD TIVODI	1600 00	1.004 10.000	∠ ∪						

076-SELICMAN GROUP OF FUNDS

O STATE STREET BANK AND TRUST CO CUST

O STATE STREET BANK AND TRUST CO CUST

1 PROCESS DATE 12/31/01

0

STATE STREET BANK AND TRUST CO CUST

					076-5	SELI	GMAN	GROUP	OF	FUNDS				
										097-TRI	-CONTINENTAL	CORPORATION	- COMMON	PR
0											ORDER	COST		ORD
	REGIST	TRATION									SHARES	PRICE		DOLL
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20
0	STATE	STREET	BANK	AND	TRUST	CO	CUST				1.064	18.800		20

20

20

20

18.800

18.800

18.800

18.800

1.064

MONTHLY FORM 23C-1 REPORT

1.064

0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
0	STATE	STREET	BANK	AND	TRUST	СО	CUST	1.064	18.800	20
1	PROCESS	DATE		12,	/31/01			MONTHLY FORM 23C-1	REPORT	

076-SELIGMAN GROUP OF FUNDS

	0,0000000000000000000000000000000000000	01.50		
		097-TRI-CONTINENTAL	CORPORATION - COMMON	PF
0		ORDER	COST	ORE
	REGISTRATION	SHARES	PRICE	DOLI
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
1	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1 F	REPORT	

		097-TRI-CONTINENTAL	CORPORATION - COMMON	PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK AND TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20
0	STATE STREET BANK & TRUST CO CUST	1.064	18.800	20

0	STATE STREET BANK	& TRUST CO	CUST		1.064	18.800	20
1 г	PROCESS DATE	PRICE 12/31/01	DATE TO	TALS	579.880 MONTHLY FORM 23	OC_1 DEDODT	10,900
1 F	ROCESS DATE	12/31/01			MONIALI FORM 23	C-I REPORT	
		076-8	ELIGMAN	GROUP OF	FUNDS		
					097-TRI-CONTINE	ENTAL CORPORATION	
0					ORDER	COST	ORD
	REGISTRATION				SHARES	PRICE	DOLL
0	RICHARD G HANKERSO				500.000	18.720	9,360
0	ROBERT CRAIG KEENA	AN			170.000		3,182
0	JAMES G MOORE TR				443.685		8,305
0	DENNIS R WILLIAMS RITA M ERUSHA				1,700.000 4,300.000		31,824 80,496
0	RITA M ERUSHA				4,000.000		74,880
0	RITA M ERUSHA				4,000.000		74,880
0	RITA M ERUSHA				4,000.000		74,880
0	MICHAEL J O'CONNOR	R ADM			12.322		230
0	STATE STREET BANK		CO CUST		133.547		2,500
0	REGINA RHEINSTEIN	11110 111001	00 0001		2,449.202		45,849
0	SUSAN M VERITY				80.128		1,500
0	STATE STREET BANK	AND TRUST	CO CUST		65.152		1,219
0	STATE STREET BANK				39.002		730
0	EUGENE S HARTZLER				140.000		2,620
0	ERIK V WINKELMAN (CUST			165.796		3,103
0	ANNE DEVLIN				53.419		1,000
0	STATE STREET BANK	AND TRUST	CO CUST		234.775		4,394
0	JAY W ISADOR				200.321	18.720	3 , 750
0	STATE STREET BANK	AND TRUST	CO CUST		160.256	18.720	3,000
0	STATE STREET BANK	AND TRUST	CO CUST		97.863	18.720	1,832
0	STATE STREET BANK	AND TRUST	CO CUST		102.053	18.720	1,910
0	STATE STREET BANK	AND TRUST	CO CUST		206.167	18.720	3,859
1 F	PROCESS DATE	12/31/01			MONTHLY FORM 23	BC-1 REPORT	
		076-9	SET TOMAN	GROUP OF	FIINDS		
		0 / 0 – 2	ELIGMAN	GROUP OF		ENTAL CORPORATION	- COMMON PR
0					ORDER	COST	ORD
Ü	REGISTRATION				SHARES	PRICE	DOLL
0	RAYMOND F CUMMINGS	S CUST			427.093		7,995
0	MIRIAM K WILLIS				463.923	18.720	8,684
0	FRANK CARBONE CUST	Γ			908.120	18.720	17,000
0	STATE STREET BANK	AND TRUST	CO CUST		1,239.673	18.720	23,206
0	MARY BETH MORSE CU	JST			490.806	18.720	9,187
0	STATE STREET BANK	AND TRUST	CO CUST		400.641	18.720	7,500
0	STACIE L FRAZIER				534.188	18.720	10,000
0	WALTER O FITCH III	I			2,092.834	18.720	39 , 177
0	STATE STREET BANK	AND TRUST	CO CUST		1,291.400	18.720	24,175
0	THOMAS F MCGILLEN				163.633		3,063
0	MARY BETH MORSE CU	JST			384.243	18.720	7,193
0	RAYMOND JENNINGS	TR UA 10/14	1/87		53.419		1,000
0	PETER B FARROW &				1.677		31
0	MARJORIE L REEDY				936.925		17 , 539
0	DAVID G BLAIR				26.709		500
0	STATE STREET BANK	AND TRUST	CO CUST		534.188		10,000
0	CHARLES R HAZEN				50.000		936
0	STATE STREET BANK				141.186		2,643
0	INVESTORS FIDUCIANTHE J & W SELIGMAN				597.421	18.720	11 , 183
0	TOBY JOE GUERRA				53.419	18.720	1,000
0	DONNA SAVANELLA CU	JST			200.000	18.720	3,744
0	MARJORIE S MERRIAN	M			274.756		5,143
1 F	PROCESS DATE	12/31/01			MONTHLY FORM 23	BC-1 REPORT	

### REGISTRATION COST	
O JOANNA BRAGDON CUST	COMMON PF
HELEN L RANEY 315.000 18.720	DOLI
JOHN W DOBBERTIN CUST	3,350
0 JOHN W DOBBERTIN CUST JOHN S DOBBERTIN CUST JOHN S DOBBERTIN CUST JOHN S COMMENT JOHN S SEVERSON JR JOHN S JENNINGS TR UA 05/06/96 JUNDA B ROCHVARG, EXECUTRIX JOHN S JENNINGS TR UA 05/06/96 JOHN S JENNINGS TR UA 05/0	5,896
O JOHN W DOBERTIN CUST O GARRIEL C TICHO 6 SARRIEL C TICHO 6 WILLIAM J PROUT 6 JANET A CROMBIE JANET A CROMBIE BERTHA COODE PAMELA ANN SUCAMELI DAVID C DOBBERTIN O MICHAEL C KAISER 8 JANET A CROMBIE MICHAEL C KAISER 8 JANET A CROMBIE MICHAEL C KAISER 8 JANET A CROMBIE MICHAEL C KAISER 8 JANET B SEVERSON JR JOHN E SEVERSON JR BERTHA A KAVANAGH TIEE DEAN S JENNINGS TR UA 05/06/96 CELITABETH JENNINGS TR UA 05/06/96 CILMER EDWINDS CILMER EDWINDS GILMER EDW	1,338
O GABRIEL C TICHO & 1,594,251 18.720 WILLIAM J PROUF 6 1,014.957 18.720 JANET A CROMBIE 114,196 18.720 BERTHA COODE 26.709 18.720 DANIEL ANN SUGAMELI 50.000 18.720 DAVID C DOBERTIN 246.020 18.720 MICHAEL C KAISER 6 1,500.000 18.720 JOHN E SEVERSON JR 17.017 18.720 DEBRIHA A KANAMANGH TEE 220.875 18.720 DEAN S JENNINGS TR UA 05/06/96 2,674.287 18.720 DEAN S JENNINGS TR UA 05/06/96 2,674.287 18.720 GILMER EMMUNDS 42.282 42.283 106 18.720 CARMEN ASTURIAS SAN JUAN 320.513 18.720 CARMEN ASTURIAS SAN JUAN 320.513 18.720 C STUART MECAUGUEY CUST 744.654 18.720 C STUART MECAUGUEY CUST 577.599 18.720 C STUART MECAUGUEY CUST 577.599 18.720 DONALD G BLACK CUST 395.864 18.720 DONALD G BLACK CUST 395.864 18.720 DONALD G BLACK CUST 335.864 18.720 DONALD G BLACK CUST 53.419 18.720 DONALD G BLACK CUST 54.740 MONTHLY FORM 23C-1 REPORT REGISTRATION SHARER 31.821 18.720 DONALD G BLACK CUST 12.7510 MONTHLY FORM 53C-1 REPORT LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 DOUGLAS BROWNING 55 CRAWFORD EXEC 577.702 18.720 DOUGLAS BROWNIN	16,413
O GABRIEL C TICHO & 1,594,251 18.720 WILLIAM J PROUF 6 1,014.957 18.720 JANET A CROMBIE 114,196 18.720 BERTHA COODE 26.709 18.720 DANIEL ANN SUGAMELI 50.000 18.720 DAVID C DOBERTIN 246.020 18.720 MICHAEL C KAISER 6 1,500.000 18.720 JOHN E SEVERSON JR 17.017 18.720 DEBRIHA A KANAMANGH TEE 220.875 18.720 DEAN S JENNINGS TR UA 05/06/96 2,674.287 18.720 DEAN S JENNINGS TR UA 05/06/96 2,674.287 18.720 GILMER EMMUNDS 42.282 42.283 106 18.720 CARMEN ASTURIAS SAN JUAN 320.513 18.720 CARMEN ASTURIAS SAN JUAN 320.513 18.720 C STUART MECAUGUEY CUST 744.654 18.720 C STUART MECAUGUEY CUST 577.599 18.720 C STUART MECAUGUEY CUST 577.599 18.720 DONALD G BLACK CUST 395.864 18.720 DONALD G BLACK CUST 395.864 18.720 DONALD G BLACK CUST 335.864 18.720 DONALD G BLACK CUST 53.419 18.720 DONALD G BLACK CUST 54.740 MONTHLY FORM 23C-1 REPORT REGISTRATION SHARER 31.821 18.720 DONALD G BLACK CUST 12.7510 MONTHLY FORM 53C-1 REPORT LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 DOUGLAS BROWNING 55 CRAWFORD EXEC 577.702 18.720 DOUGLAS BROWNIN	26,363
0 MILLIAM J PROUT 6 JANET A CROMBIE 1 JANET A CROMBIE 1 JANET A CROMBIE 1 JANET A CROMBIE 26.709 1 R.720 0 PAMELA ANN SUGAMELI 1 DAVID C DOBBERTIN 26.000 18.720 0 MICHAEL C KAISER 6 1,500.000 18.720 0 JOEN E SEVERSON JR 17.017 18.720 0 BERTHA A KAVANAGH TIEE 2 JOEN S JENNINGS TR UA 05/06/96 2 L.893.106 2 L.8	29,844
0 JANET A CROMBIE 0 BERTHA GOODE 0 BERTHA GOODE 18.720 0 PAMELA ANN SUGAMELI 150.000 18.720 0 DAVID C DOBERTIN 246.020 18.720 0 MICHAEL C KAISER δ 1.500.000 18.720 0 JOHN E SEVERSON JR 17.017 18.720 0 BERTHA A KAVANAGH TIEE 220.875 18.720 0 DEAN S JENNINGS TR UA 05/06/96 2.674.287 18.720 0 ELIZABETH JENNINGS TR UA 05/06/96 2.674.287 0 ELIZABETH JENNINGS TR UA 05/06/96 2.674.287 18.720 0 CARMEN ASTURIAS SAN JUAN 320.513 18.720 0 STUART MEGAUGHEY CUST 3744.654 18.720 0 STUART MEGAUGHEY CUST 375.864 18.720 0 STUART MEGAUGHEY CUST 395.864 18.720 1 LISETTE SIERN 300.000 18.720 0 DONALD G BLACK CUST 1 FROCESS DATE 12/31/01 0 MONTHLY FORM 23C-1 REPORT 0 ROBERT O LARSEN δ 66.858 18.720 1 JOHN E HELM δ 4,705.070 18.720 1 JOHN E HELM δ 4,705.070 18.720 1 LINDA B ROOCHVARG, EXECUTRIX 1 LINDA B ROOCHVARG, EXECUTRIX 2 LINDA B ROOCHVARG, EXECUTRIX 3 LINDA B ROOCHVARG, EXECUTRIX 4 4,482.106 1 LINDA B ROOCHVARG, EXECUTRIX 4 4,482.106 1 LINDA B ROOCHVARG, EXECUTRIX 4 1,482.106 1 LINDA B ROOCHVARG, EXECUTRIX 4 1,48	19,000
D PAMELA ANN SUGAMELI	2,137
D PAMELA ANN SUGAMELI	500
DAVID C DOBBERTIN MICHAEL C KAISER & 1,500.000 18.720 JOHN E SEVERSON JR 17.017 18.720 BERTHA A KAVANACH TITEE 220.875 18.720 DEAN S JENNINGS TR UA 05/06/96 2.674.287 18.720 DEAN S JENNINGS TR UA 05/06/96 2.674.287 18.720 G ELIZABETH JENNINGS TR UA 05/06/96 2.893.106 18.720 G ILMER EDMUNDS 423.828 18.720 C CARMEN ASTURIAS SAN JUAN 320.513 18.720 S STUART MEGAUGHEY CUST 744.654 18.720 S STUART MEGAUGHEY CUST 577.599 18.720 U STUART MEGAUGHEY CUST 395.864 18.720 S STUART MEGAUGHEY CUST 395.864 18.720 LISETTE STERN 300.000 18.720 D DONALD G BLACK CUST 53.419 18.720 T PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT O TO-SELIGMAN GROUP OF FUNDS OFFICE OF THE SEARCH STAN SHARES PRICE 66.858 18.720 O FIRST NATIONAL BANK TIEE 2.200.000 18.720 U FIRST NATIONAL BANK TIEE 2.200.000 18.720 KERRY P ROSCOE TIEE 1,720.292 18.720 LINDA B ROOCHVARG, EXECUTRIX 1,869.658 18.720 LINDA B ROOCHVARG, EXECUTRIX 2.670.940 18.720 LINDA B ROOCHVARG, EXECUTRIX 4.82.106 18.720 LINDA B ROOCHVARG, EXECUTRIX 4.482.106 18.720 JAMES L SMITH III 5.000.000 18.720 O JOHN G DALTON JR EXEC FRANCIS J BRODERICK EXEC FRICE DATE TOTALS PRICE DATE TOTALS REFORM THE TOTAL STATES TO THE TOTALS TOTAL THE TOTALS TOTAL THE TOTALS TOTAL THE TOTALS TOTAL THE	936
MICHAEL C KAISER & 1,500.000 18.720	4,605
JOHN E SEVERSON JR	28,080
DERTHA A KAVANAGH TIEE 220.875 18.720 DEAN S JENNINGS TR UA 05/06/96 2,674.287 18.720 ELIZABETH JENNINGS TR UA 05/06/96 2,893.106 18.720 GILMER EDMUNDS 423.828 18.720 CARMEN ASTURIAS SAN JUAN 320.513 18.720 STUART MEGAUGHEY CUST 744.654 18.720 STUART MEGAUGHEY CUST 577.599 18.720 STUART MEGAUGHEY CUST 395.864 18.720 LISETTE STERN 300.000 18.720 DONALD G BLACK CUST 300.000 18.720 DONALD G BLACK CUST 53.419 18.720 TORDER COST CORDER COST CORDER COST SAME PRICE REGISTRATION MONTHLY FORM 23C-1 REPORT ORDER COST REGISTRATION SHARES PRICE REGISTRATION SHARES PRICE ORDER COST SAME 18.720 DONALD G BLACK CUST 31.821 18.720 DONALD G BLACK CUST 20.721 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT ORDER COST COST REPORT REGISTRATION SHARES PRICE REGISTRATION SHARES 18.720 DONALD G BLACK CUST 18.720 DONALD G BLACK CUST 18.720 DONALD G BLACK CUST 20.721	318
DEAN S JENNINGS TR UA 05/06/96 2,674.287 18.720 0 ELIZABETH JENNINGS TR UA 05/06/96 2,893.106 18.720 0 GILMER EDMUNDS 423.828 18.720 0 CARMEN ASTURIAS SAN JUAN 320.513 18.720 0 STUART MEGAUGHEY CUST 744.654 18.720 0 STUART MEGAUGHEY CUST 577.599 18.720 0 STUART MEGAUGHEY CUST 395.864 18.720 1 STUART MEGAUGHEY CUST 395.864 18.720 0 DONALD G BLACK CUST 53.419 18.720 1 DONALD G BLACK CUST 53.419 18.720 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT 0 ORDER COST REGISTRATION SHARES PRICE 0 ROBERT O LARSEN & 66.858 18.720 1 PROCEY T BARKER 31.821 18.720 2 JOHN E HELM & 4,705.070 18.720 3 JOHN E HELM & 4,705.070 18.720 2 FIRST NATIONAL BANK TIEE 2,200.000 18.720 3 LINDA B ROOCHVARG, EXECUTRIX 1,869.658 18.720 2 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 2 LINDA B ROOCHVARG, EXECUTRIX 460.7940 18.720 2 LINDA B ROOCHVARG, EXECUTRIX 460.7940 18.720 2 LINDA B ROOCHVARG, EXECUTRIX 480.7940 18.720 2 LINDA B ROOCHVARG, EXECUTRIX 482.106 18.720 2 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 2 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 3 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 3 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 4 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 4 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 5 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 4 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 5 JAMES L SMITH III 5,000.000 18.720 5 JOHN G DALTON JR EXEC 662.637 18.720 5 JOHN G DALTON JR EXEC 662.637 18.720 5 JOHN G DALTON JR EXEC 662.637 18.720 6 JOHN G DALTON JR EXEC 662.637 18.720 7 HRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	4,134
Color	50,062
GILMER EDMUNDS	54,158
O CARMEN ASTURIAS SAN JUAN STUART MEGAUCHEY CUST STUART MEGAUGHEY STUART MEGAUGH STU	7,934
O STUART MEGAUGHEY CUST	6,000
STUART MEGAUGHEY CUST 395,864 18.720	13,939
O STUART MEGAUGHEY CUST 395.864 18.720 O LISETTE STERN 300.000 18.720 O DONALD G BLACK CUST 53.419 18.720 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT O76-SELIGMAN GROUP OF FUNDS ORDER COST REGISTRATION ORDER COST REGISTRATION SHARES PRICE O PERCY T BARKER 31.821 18.720 O JOHN E HELM & 4,705.070 18.720 O FIRST NATIONAL BANK TITE 2,200.000 18.720 O KERRY P ROSCOE TITEE 1,720.292 18.720 O LINDA B ROOCHVARG, EXECUTRIX 1,869.658 18.720 O LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 O LINDA B ROOCHVARG, EXECUTRIX 480.769 18.720 O LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 O LINDA B ROOCHVARG, EXECUTRIX 5,000.000 18.720 O LINDA B ROOCHVARG, EXECUTRIX 5,000.000 18.720 O DOUGLAS BROWNING 357.126 18.720 O JOHN G DALTON JR EXEC 577.702 18.720 O FRANCIS J BRODERICK EXEC 1,097.356 18.720 O JOHN G DALTON JR EXEC 577.702 18.720 O WILDA M INGHAM EXEC 577.702 18.720 O WILDA M INGHAM EXEC 19.558 18.720	10,812
O LISETTE STERN 300.000 18.720	7,410
DONALD G BLACK CUST 12/31/01 MONTHLY FORM 23C-1 REPORT	5,616
1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	1,000
OPT-TRI-CONTINENTAL CORPORATION - CONTENTAL CONTENTAL CORPORATION - CONTENTAL CORPORATION - CONTENTAL CORPORATION - CONTENTAL CONT	_,
OPT-TRI-CONTINENTAL CORPORATION - CONTENTAL CONTENTAL CORPORATION - CONTENTAL CORPORATION - CONTENTAL CORPORATION - CONTENTAL CONT	
ORDER COST REGISTRATION SHARES PRICE ORDERT O LARSEN & 66.858 18.720 OPERCY T BARKER 31.821 18.720 OPERCY T BARKER 4,705.070 18.720 OPERCY T BARKER 5,700.000 18.720 OPERCY T BARKER 7,700.000 OPERCY T BARKER 7,700.000 OPERCY T BARKER 7,700.000 OPERCY T BARKER 7,700.000 OPER	COMMON PF
REGISTRATION SHARES PRICE 0 ROBERT O LARSEN & 66.858 18.720 0 PERCY T BARKER 31.821 18.720 0 JOHN E HELM & 4,705.070 18.720 0 FIRST NATIONAL BANK TIEE 2,200.000 18.720 0 KERRY P ROSCOE TIEE 1,720.292 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 1,869.658 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 480.769 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 482.106 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 5,000.000 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 0 WILDA M INGHAM EXEC 19.558 18.720	ORI
0 ROBERT O LARSEN & 66.858 18.720 0 PERCY T BARKER 31.821 18.720 0 JOHN E HELM & 4,705.070 18.720 0 FIRST NATIONAL BANK TTEE 2,200.000 18.720 0 KERRY P ROSCOE TTEE 1,720.292 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 1,869.658 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 480.769 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 480.769 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 JOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 597.702 18.720 0 PRICE DATE TOTALS 89,390.275	DOLI
0 PERCY T BARKER 31.821 18.720 0 JOHN E HELM & 4,705.070 18.720 0 FIRST NATIONAL BANK TIEE 2,200.000 18.720 0 KERRY P ROSCOE TIEE 1,720.292 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 1,869.658 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 480.769 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 JOHNS L SMITH III 5,000.000 18.720 0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	1,251
0 JOHN E HELM & 4,705.070 18.720 0 FIRST NATIONAL BANK TTEE 2,200.000 18.720 0 KERRY P ROSCOE TTEE 1,720.292 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 1,869.658 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 480.769 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 480.769 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 JOHNGS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 0 WILDA M INGHAM EXEC 19.558 18.720	595
0 FIRST NATIONAL BANK TTEE 2,200.000 18.720 0 KERRY P ROSCOE TTEE 1,720.292 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 1,869.658 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 400.769 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	88 , 078
0 KERRY P ROSCOE TTEE 1,720.292 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 1,869.658 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 480.769 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 0 WILDA M INGHAM EXEC 89,390.275 1 PRICE DATE TOTALS 89,390.275	41,184
0 LINDA B ROOCHVARG, EXECUTRIX 1,869.658 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 480.769 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	32,203
0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 480.769 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 WILDA M INGHAM EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	35,000
0 LINDA B ROOCHVARG, EXECUTRIX 480.769 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	50,000
0 LINDA B ROOCHVARG, EXECUTRIX 2,670.940 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 WILDA M INGHAM EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	9,000
0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	50,000
0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	83,905
0 LINDA B ROOCHVARG, EXECUTRIX 4,482.106 18.720 0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	83,905
0 MARGARET P ROSA 1,335.470 18.720 0 JAMES L SMITH III 5,000.000 18.720 0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	83,905
0 JAMES L SMITH III 5,000.000 18.720 0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	25,000
0 DOUGLAS BROWNING 357.126 18.720 0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	93,600
0 FRANCIS J BRODERICK EXEC 1,097.356 18.720 0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	6,685
0 JOHN G DALTON JR EXEC 602.637 18.720 0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	20,542
0 ROSS F CRAWFORD EXEC 577.702 18.720 0 WILDA M INGHAM EXEC 19.558 18.720	11,281
0 WILDA M INGHAM EXEC 19.558 18.720 PRICE DATE TOTALS 89,390.275 1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	10,814
1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	366
1 PROCESS DATE 12/31/01 MONTHLY FORM 23C-1 REPORT	1,673,385
	1,073,300
076-SELIGMAN GROUP OF FUNDS	
070-SELIGNAN GROOF OF FUNDS 097-TRI-CONTINENTAL CORPORATION - CO	COMMON PF
O ORDER COST	ORI
REGISTRATION SHARES PRICE	DOLI
0 STATE STREET BANK AND TRUST CO CUST 93.266 18.690	1,743

0	STATE STREET BANK AND TRUST CO CUST	93.266	18.690	1,743
0	ALVIN D DIAMOND	177.860	18.690	3,324
0	ALVIN D DIAMOND	177.860	18.690	3,324
0	MISS GUNDA FAETH	35.976	18.690	672
0	MISS GUNDA FAETH	35.976	18.690	672
0	STEPHEN E WARE &	4,454.275	18.690	83 , 250
0	STEPHEN E WARE &	4,454.275	18.690	83 , 250
0	CHRISTINE E FARRELL	400.000	18.690	7,476
0	CHRISTINE E FARRELL	400.000	18.690	7,476
0	STATE STREET BANK AND TRUST CO CUST	969.207	18.690	18,114
0	STATE STREET BANK AND TRUST CO CUST	969.207	18.690	18,114
0	PETER J GUARINO	966.000	18.690	18 , 054
0	PETER J GUARINO	966.000	18.690	18 , 054
0	STATE STREET BANK AND TRUST CO CUST	614.441	18.690	11,483
0	STATE STREET BANK AND TRUST CO CUST	614.441	18.690	11,483
0	STATE STREET BANK AND TRUST CO CUST	462.814	18.690	8 , 650
0	STATE STREET BANK AND TRUST CO CUST	462.814	18.690	8 , 650
0	STATE STREET BANK AND TRUST CO CUST	108.507	18.690	2,028
0	STATE STREET BANK AND TRUST CO CUST	108.507	18.690	2,028
0	STATE STREET BANK AND TRUST CO CUST	401.284	18.690	7 , 500
0	STATE STREET BANK AND TRUST CO CUST	401.284	18.690	7,500
0	STATE STREET BANK AND TRUST CO CUST	1,872.659	18.690	35 , 000
1	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1	REPORT	
	0.00			
	OGE CELTCMAN COOLD			

076-SELIGMAN GROUP OF FUNDS

		097-TRI-CONTINENTAL	CORPORATION -	COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	1,872.659	18.690	35 , 000
0	STATE STREET BANK AND TRUST CO CUST	191.546	18.690	3 , 580
0	STATE STREET BANK AND TRUST CO CUST	191.546	18.690	3 , 580
0	STATE STREET BANK AND TRUST CO CUST	14.336	18.690	267
0	STATE STREET BANK AND TRUST CO CUST	14.336	18.690	267
0	STATE STREET BANK AND TRUST CO CUST	60.189	18.690	1,124
0	STATE STREET BANK AND TRUST CO CUST	60.189	18.690	1,124
0	STATE STREET BANK AND TRUST CO CUST	1,249.533	18.690	23 , 353
0	STATE STREET BANK AND TRUST CO CUST	1,249.533	18.690	23 , 353
0	WILLIAM M CRYAN CUST	802.568	18.690	15,000
0	WILLIAM M CRYAN CUST	802.568	18.690	15,000
0	STATE STREET BANK AND TRUST CO CUST	150.000	18.690	2,803
0	STATE STREET BANK AND TRUST CO CUST	150.000	18.690	2,803
0	STATE STREET BANK AND TRUST CO CUST	116.491	18.690	2,177
0	STATE STREET BANK AND TRUST CO CUST	116.491	18.690	2,177
0	STATE STREET BANK AND TRUST CO CUST	19.939	18.690	372
0	STATE STREET BANK AND TRUST CO CUST	19.939	18.690	372
0	STATE STREET BANK AND TRUST CO CUST	27.501	18.690	514
0	STATE STREET BANK AND TRUST CO CUST	27.501	18.690	514
0	STATE STREET BANK AND TRUST CO CUST	371.111	18.690	6 , 936
0	STATE STREET BANK AND TRUST CO CUST	371.111	18.690	6 , 936
0	STATE STREET BANK AND TRUST CO CUST	400.000	18.690	7,476
0	STATE STREET BANK AND TRUST CO CUST	400.000	18.690	7,476
1 P	ROCESS DATE 12/31/01	MONTHLY FORM 23C-1 F	REPORT	

		097-TRI-CONTINENTAL	CORPORATION - 0	COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	200.107	18.690	3,740
0	STATE STREET BANK AND TRUST CO CUST	200.107	18.690	3,740
0	STATE STREET BANK AND TRUST CO CUST	133.503	18.690	2 , 495
0	STATE STREET BANK AND TRUST CO CUST	133.503	18.690	2 , 495
0	LOUIS D LEHIGH &	2,523.000	18.690	47 , 154
				T T T T T T T T T T T T T T T T T T T

0	LOUIS D LEHIGH &	2,523.000	18.690	47,154
0	SARA A WOOLSTON CUST	642.055	18.690	12,000
0	SARA A WOOLSTON CUST	642.055	18.690	12,000
0	JEAN KLINE FEIGENBAUM TTEE	160.514	18.690	3,000
0	JEAN KLINE FEIGENBAUM TTEE	160.514	18.690	3,000
0	PHILIP C FREEMAN	1,401.880	18.690	26,201
0	PHILIP C FREEMAN	1,401.880	18.690	26,201
0	PHYLLIS E SIMONE	160.514	18.690	3,000
0	ELISE E THOMPSON	267.523	18.690	5,000
0	ELISE E THOMPSON	267.523	18.690	5,000
0	STATE STREET BANK AND TRUST CO CUST	2,178.531	18.690	40,716
0	STATE STREET BANK AND TRUST CO CUST	2,178.531	18.690	40,716
0	DAVID P JUNG	107.009	18.690	2,000
0	DAVID P JUNG	107.009	18.690	2,000
0	CHARLES COHEN	1,026.650	18.690	19,188
0	CHARLES COHEN	999.910	18.690	18,688
0	CHARLES COHEN	1,026.650	18.690	19,188
0	CHARLES COHEN	999.910	18.690	18,688
1	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1	REPORT	

076-SELIGMAN GROUP OF FUNDS

		097-TRI-CONTINENTAL	CORPORATION -	COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	HENRY B FURRER &	1,029.823	18.690	19,247
0	HENRY B FURRER &	1,029.823	18.690	19,247
0	LUBY, OLSON, MANGO, GAFFNEY &	3,468.440	18.690	64,825
0	LUBY, OLSON, MANGO, GAFFNEY &	3,468.440	18.690	64,825
0	FREDERIC WHITAKER &	1,500.000	18.690	28,035
0	FREDERIC WHITAKER &	1,500.000	18.690	28,035
0	JOHN B MAIER	168.322	18.690	3,145
0	JOHN B MAIER	168.322	18.690	3,145
0	K S RAJAGOPALAN	529.210	18.690	9,890
0	K S RAJAGOPALAN	529.210	18.690	9,890
0	ROBERT J EVANS &	735.000	18.690	13,737
0	ROBERT J EVANS &	735.000	18.690	13,737
0	STATE STREET BANK AND TRUST CO CUST	1,195.555	18.690	22,344
0	STATE STREET BANK AND TRUST CO CUST	1,195.555	18.690	22,344
0	SHARON D SMITH &	973.812	18.690	18,200
0	SHARON D SMITH &	973.812	18.690	18,200
0	STATE STREET BANK AND TRUST CO CUST	64.884	18.690	1,212
0	STATE STREET BANK AND TRUST CO CUST	64.884	18.690	1,212
0	STATE STREET BANK AND TRUST CO CUST	43.963	18.690	821
0	FRANCIS P BINDER &	780.489	18.690	14,587
0	FRANCIS P BINDER &	780.489	18.690	14,587
0	SETH ORION WRIGHT	481.541	18.690	9,000
0	SETH ORION WRIGHT	481.541	18.690	9,000
1 P	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1 H	REPORT	

	0,0002201111111111111111111111111111111	01120		
		097-TRI-CONTINENTAL	CORPORATION -	COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	TIERNEY GARCIA	69.290	18.690	1,295
0	TIERNEY GARCIA	69.290	18.690	1,295
0	MILDRED NADEANE WARE	237.193	18.690	4,433
0	MILDRED NADEANE WARE	237.193	18.690	4,433
0	STATE STREET BANK AND TRUST CO CUST	748.736	18.690	13 , 993
0	STATE STREET BANK AND TRUST CO CUST	748.736	18.690	13 , 993
0	STATE STREET BANK AND TRUST CO CUST	497.488	18.690	9 , 298
0	STATE STREET BANK AND TRUST CO CUST	497.488	18.690	9 , 298
0	STATE STREET BANK AND TRUST CO CUST	160.514	18.690	3,000

	Edgar Filing: TRI CONTINENTAL C	ORP - Form N-23C-1		
0	STATE STREET BANK AND TRUST CO CUST	160.514	18.690	3,000
0	STATE STREET BANK AND TRUST CO CUST	2,619.780	18.690	48,963
0	STATE STREET BANK AND TRUST CO CUST	2,619.780	18.690	48,963
0	JOHN S WITT SR &	821.660	18.690	15,356
0	JOHN S WITT SR &	821.660	18.690	15,356
0	RICHARD H POUNDS &	299.860	18.690	5,604
0	RICHARD H POUNDS &	299.860	18.690	5,604
0	DONALD R STEELE	186.300	18.690 18.690	3,481
0	DONALD R STEELE STATE STREET BANK AND TRUST CO CUST	186.300 25.147	18.690	3,481 470
0	STATE STREET BANK AND TRUST CO CUST	25.147	18.690	470 470
0	JOSEPH RUSSELL MORRIS TTEE	500.000	18.690	9 , 345
0	JOSEPH RUSSELL MORRIS TIEE	500.000	18.690	9,345
0	ANNE HUNTER WHEELOCK	133.761	18.690	2,500
	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1		2,300
	076-SELIGMAN GROUP OF	FUNDS		
		097-TRI-CONTINENTAL	CORPORATION -	- COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	ANNE HUNTER WHEELOCK	133.761	18.690	2,500
0	WILLIAM S STRAUS TTEE	2,675.174	18.690	49,999
0	WILLIAM S STRAUS TTEE	2,675.174	18.690	49,999
0	RUTH A JACOBS TTEE	2,843.000	18.690	53 , 135
0	RUTH A JACOBS TTEE	2,843.000	18.690	53 , 135
0	STATE STREET BANK & TRUST	48.994	18.690	915
0	STATE STREET BANK & TRUST	48.994		915
0	FRED SMITHLINE EXEC	2,675.227	18.690	50,000
0	FRED SMITHLINE EXEC	2,675.227	18.690	50,000
0	DOUGLAS P LANGE EXEC	1,260.930	18.690	23,566
1 F	PRICE DATE TOTALS PROCESS DATE 12/31/01	99,604.177 MONTHLY FORM 23C-1	REPORT	1,861,602
	076-SELIGMAN GROUP OF	FUNDS		
		097-TRI-CONTINENTAL		
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLL
0	STATE STREET BANK AND TRUST CO CUST	94.122	18.520	1,743
0	ALVIN D DIAMOND	179.492	18.520	3,324
0	MISS GUNDA FAETH	35.976	18.520	666
0	STEPHEN E WARE &	4,454.275	18.520	82,493
0	CHRISTINE E FARRELL	400.000	18.520	7,408
0	STATE STREET BANK AND TRUST CO CUST	978.103	18.520	18,114
0	PETER J GUARINO	966.000	18.520	17,890
0	STATE STREET BANK AND TRUST CO CUST	620.081	18.520	11,483
0	STATE STREET BANK AND TRUST CO CUST	467.063	18.520	8,650
0	STATE STREET BANK AND TRUST CO CUST	109.503	18.520	2,028
0	STATE STREET BANK AND TRUST CO CUST	404.968	18.520	7,500
0	STATE STREET BANK AND TRUST CO CUST	1,889.849	18.520	35,000

193.305

14.468

60.741

809.935

150.000

117.560

20.122

27.754

400.000 18.520

374.517

400.000 18.
MONTHLY FORM 23C-1 REPORT

1,261.003

O STATE STREET BANK AND TRUST CO CUST

12/31/01

WILLIAM M CRYAN CUST

0

Ω

0

0

0

0

1 PROCESS DATE

18.520

18.520

18.520

18.520

18.520

18.520

18.520

18.520

18.520

18.520

3,580

1,124

23,353 15,000

> 2,778 2,177

372

6,936

7,408

514

267

	076-SELIGMAN GROUP OF	FUNDS		
		097-TRI-CONTINENTAL	CORPORATION -	COMMON PF
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLI
0	STATE STREET BANK AND TRUST CO CUST	201.944	18.520	3,740
0	STATE STREET BANK AND TRUST CO CUST	134.728	18.520	2,495
0	LOUIS D LEHIGH &	2,523.000	18.520	46,725
0	SARA A WOOLSTON CUST	647.948	18.520	12,000
0	JEAN KLINE FEIGENBAUM TTEE	161.987	18.520	3,000
0	PHILIP C FREEMAN	1,401.880	18.520	25 , 962
0	PHYLLIS E SIMONE	161.987	18.520	3,000
0	ELISE E THOMPSON	269.978	18.520	5,000
0	STATE STREET BANK AND TRUST CO CUST	2,178.531	18.520	40,346
0	DAVID P JUNG	107.991	18.520	2,000
0	CHARLES COHEN	1,026.650	18.520	19,013
0	CHARLES COHEN	999.910	18.520	18,518
0	HENRY B FURRER &	1,029.823		19,072
0	LUBY, OLSON, MANGO, GAFFNEY &	3,500.278		64,825
0	FREDERIC WHITAKER &	1,500.000	18.520	27 , 780
0	JOHN B MAIER	169.867	18.520	3,145
0	K S RAJAGOPALAN	529.210	18.520	9,800
0	ROBERT J EVANS &	735.000		13,612
0	STATE STREET BANK AND TRUST CO CUST	1,206.530	18.520	22,344
0	SHARON D SMITH &	973.812	18.520	18,035
0	STATE STREET BANK AND TRUST CO CUST	65.480		1,212
0	STATE STREET BANK AND TRUST CO CUST	44.366		821
0	FRANCIS P BINDER &	780.489	18.520	14,454
1	PROCESS DATE 12/31/01	MONTHLY FORM 23C-1 H	REPORT	
	076-SELIGMAN GROUP OF	FUNDS		
		097-TRI-CONTINENTAL	CORPORATION -	COMMON PR
0		ORDER	COST	ORD
	REGISTRATION	SHARES	PRICE	DOLI

			097-TRI-CONTINENTAL	CORPORATION ·	- COMMON PR
0			ORDER	COST	ORD
	REGISTRATION		SHARES	PRICE	DOLL
0	SETH ORION WRIGHT		485.961	18.520	9,000
0	TIERNEY GARCIA		69.290	18.520	1,283
0	MILDRED NADEANE WARE		237.193	18.520	4,392
0	STATE STREET BANK AND TRUST C	O CUST	755.609	18.520	13 , 993
0	STATE STREET BANK AND TRUST C	O CUST	502.055	18.520	,
0	STATE STREET BANK AND TRUST C	O CUST	161.987	18.520	3,000
0	STATE STREET BANK AND TRUST C	O CUST	2,619.780	18.520	48,518
0	JOHN S WITT SR &		821.660	18.520	15 , 217
0	RICHARD H POUNDS &		299.860	18.520	5 , 553
0	DONALD R STEELE		186.300	18.520	3 , 450
0	STATE STREET BANK AND TRUST C	O CUST	25.378	18.520	470
0	JOSEPH RUSSELL MORRIS TTEE		500.000	18.520	. ,
0	ANNE HUNTER WHEELOCK		134.989	18.520	2,500
0	WILLIAM S STRAUS TTEE		2,699.730	18.520	49,999
0	RUTH A JACOBS TTEE		2,843.000	18.520	52 , 652
0	STATE STREET BANK & TRUST		49.444	18.520	915
0	FRED SMITHLINE EXEC		2,699.784	18.520	50,000
0	DOUGLAS P LANGE EXEC		1,260.930	18.520	23,352
	PRICE D	DATE TOTALS	50,733.176		939 , 578
0	MONTH-F	END TOTALS	404,134.732		7,655,425
			, ================		